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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
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two or more circles will result in zero mark in that question.

D C B A Questions / =iy &7
360° 270° 90° 180° R A
A straight angle contains :
- ) 2
G @5 | G=DE=5 | @-DE+5) | G+DE-9) £ AS (x+3) - 4
Factorization of (x+3)2 -4 is :
3
feerfE Xt -9=0
{3} (+9) (9} (+3} g o
Solution set of x> —9=0is :
4 3 5 1 The number (& st L Ugsligheds 4
of angle bisectors in a triangle is :
3 2 1 4 e ASSURSLES o P 1 2
) The number of methods to find H.C.F. are :
3 2 1 0 : ‘at'rz,?u((;//f/(j.»u §
A quadratic polynomial is of degree :
e ~
/2 lxg +b —l-x!é+b /xb .g..Ln,.g/KJ.'.V
3 2 Area of a rectangle is
(a+b)’ (a-b)’ a’+b’ T (a+b)(a® —ab+b*)=: 8
3 2 9
2 2 o 2 :c.f”buKSp q+<12pq
4 4 4 4 7
¢4 # P b H.C.F. of 12pq, 8p’qis :
a -b> a +b> (a—b)’ (a+b)’ a® +3ab (a+b)+b> =: 10
N _ 1
(5.3y | (-5.3) | (5,-3} | {-5.-3} gty SE|x~1 =4
Solution setof [ x—1|=4 is:
AT v 12
(0,0) (1,0) (0,1) 0 W Lnzdsd Lis
The co-ordinates of the origin are :
Lero 1 0 3 4 A SN TNl R
Unit ( one) In a unit matrix diagonal elements are :
14
£3 0 -5 3 AN
Solution setof | x | =3 is :
7[7"2 2 i v i - ’ . B 15
5 2y P Tr Area of semicircle is : 11360 hid
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(PART -1 Usto ) )
12 2. Write short answers to any SIX (6) questions : : 24 ez AL iy (6):{4..(;)/ 2

e P0) F P)=xt 4375249 St ()
(i) If P(x)=x"+3x2=5x+9 , then find P(0)

(i) Simplify : (7++43)(5++/2) 2L A (i)
' 2.2 L
(iii) Rational expression to lowest term : T; i} QJ” S P o747 Gib
Xy

(iv) Write down the angles marked with letters : 2‘_{ r}” Wt d/ Usslins® /zLEcué.‘( <7 (v)
P

b s Sui-e 100°0 J6UEE Le 100° 52 6Upsls (V)

(v) The sum of two angles i§100° and difference between their supplements is 100°.

Find the angles. ,
(vi) Find H.C.F. by factorization; L ek Pl sLGE (VD)
3x5y2 , 12ny4 , 15x3y2
(vii) Find L.C.M. by factorization : -Zi,:()L‘” F1Sbanssg 7 2 (vid)
21a4x3y 5 35a2x4y . 28613xy4
(viil) Find the square root : 16x% + 24xy+ 93 2k 8 A (Vi)
(ix) Solve using formula : (ab - ;15)3 é Sesa J g (X))
12 3. Werite short answers to any SIX (6) questions : : ot eyl /""’ L =iy (6)4’4_8:( 3
(1) Factorize : 2a* ~bc —2ab + ac -G
(1) Factorize : x2 4+9x+20 :’cfgd /’ (i1)
(ii1) Factorize : 8x> -y C s Gibd

xls—l;x+l : u:fg:‘_d/,fm’//.:@% :u;x/f’(d/ufépl”'/ﬂ 4(:}/ (iv)
(iv) Determine whether the second polynomial is a factor of the first polynomial

without dividing : x'®-1;x+1

(v) Solve : 3x+3(x+1) =69 ZSf W)
(vi) Solve : J3x+4=17 éf (vi)
(vid)  Solve : 3(x—2) <2x+1 22 f o (vid)

b=5,c=61,a=7 . xn/s C/JIZ/UJ"»LUW a b .{?éf:‘*‘éﬁﬁ"(@ﬁ»,m:«?w (viii)
(viil) Find the third side of right triangle with legs a , b and hypotenuse ¢:  b=5,¢= 61,a="?
~e 2m &j;w 3m U2 «4m JHJJ”@(P’ZK,SV’JVQ (ix)

(ix) Find the volume of a rectangular box with length 4m, breadth 3m and height 2m.

(2'&» )
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(2) ‘"k—qz -2 ' . i
12 4. Write short answers to any SIX (6) questions : : o A2 A L ey (6)4’:..4}/ 4

(1) Solve by using factorization : 2x = & +3 Ei: S LG j’ (1)
X
.. - b j H 1
(i1) Find transpose of matrix : = [a p } :é":"“‘ I I (i)
¢

(iil) Write matrices in the form of linear equation : 20 - bl Gt Suss  Gid)

os Wb

. 2 1 I 2 1 .
Gv) If B:[ 4}, then verify BI=B ~ BI=B JZEY4dix B:[ 5 4}/’7 (iv)
) _

(v) Solve by factorization : Qx+1)(5x-4) =0 S FSF s V)
: -3 5 5 :
(vi) Find the determinant of matrix : 'j ; 4J :Zf(')"”(‘fy&,«lﬁ' (vi)

mAB = mBC = mAC = Sem AU2EEABC &Lusnigolofi (vid)
(vil)  Draw an equilateral AABC in which mAB = mBC = mAC = Sem.
(viii) Locate points (7 ,-- 5 ) on number plane. &% A6 S Gt (7,-5) b6 (viid)

(ix) Find the distance between -é()"‘)fﬁuyné (b,~a)» (a,-b) b5 (Ix)
(a,~b)and(b,-a) y
(PART -1I /5. )

Note : Attempt any THREE questions . il :«U}Zﬁom;’cﬁ c{j:( (s

4 5 (@ Simplify S SRR L4 () S
Xy+yc xT—xy ‘
4 (b) Find L.C.M. by factorization : :féfﬁ'd"lh}bb!ﬁdf?g/}g (L)
oo , x? +x26 ) x% = 3x+2
4 6. (a) Factorize : 8—4a-2d° +a* c 265 () 6
4 2 2 1 4 @2 2 1 :
4 (b) If 4= ],Bz A= B= S (2)
0 0 |-2 4 0 0 -2 4
then verify that : AB # B4 AB # BA 1S i
4 7. (a) Solve : y—6+\/;=0 Z‘f‘f () .7
4 (b)  Solve by completing square method x> —11x-26=0 :Z-(J’c—.’éf/"éé/df“ (u)
4 ~Us6 cm s 10 em URUSEURl P b0 () 8
8. (a) Construct a rectangle with sides 10 cm and 6 cm.
+ JumBC =12cm « mAC =9cm fv;_,m;?u“c S ABC a2 (o)
(b) AABC is right angled at C if ek AB 2 sl f L
mAC =9cm , mBC =12cm then find length AB using Pythagoras theorem.

4 BT E UGS L) C (5,5) o B (~2,4) «A(4,-2 )6 2wt (D) .9

9. (a) Show that the points A (4,-2),B(-2,4)and C(5,5)are
vertices of isosceles triangle.
4 (b) Use Cramer’s rule to solve :’é.;f/u?bu;l/'?c.ﬁg/’z:ﬁ/ Gz

the simultaneous equations :
2x+ y =1

Sx+3y=2
269-021-1-(Essay Type)-35000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / < Uiy 7
4 3 s 1 The numbe_r IU}&?M#L’LU{)U&% Il
of angle bisectors in a triangle is :
e NSRS LL Sl F e |
3 2 1 4 eI SUB L S Isle
The number of methods to find H.C.F. are :
A sy | e 6B | Amatrix et oS L0 A |
Scalar matrix | Identity matrix | Column matrix | Row matrix | consisting of one row is called :
; R 3 & 4
y , ' Points  : Z_ st 3G L17 b6 0
BA LA . , > e
'//{ ( (7 a which do not lie on the same straight
Non-collinear Collinear Equal Zero line are called :
3‘ 0 1 ) A linear el al;u(f}u.fﬁ.:"‘ug 5
equation in one variable is of degree :
" ” i 6 4P (@) In}#526P (x) x—a S |°
If x—ais afactor of P(x), then P (a) =:
1 1 : X g o b |7
Oxb | =xltb | —x0+b /2 b S|
2 4 Area of a rectangle is :
(a-b)? a’-b° (a+b)’ a+5° ad —3ab(a-b)-b* =: 8
_ 9
8,2} | (8.2 | (-8.-2} | (8,-2) e2r¥]x-3]=5
: Solution setof | x —3|=5 is:
1 10
;_ ) | 0 | 24‘:_31){\/5 =g (Jlﬂﬁ’
\/‘ =a? isasurd of order :
e g S f Jrey Fe et A T A = -4 S I
Square matrix ‘ arm Transpose Symmetric | If A" = ~ A, then A is called :
symmetric
S2 28 48 S Z%b‘)’c’,}/(‘ﬂ‘S’é‘.’Kf&/gt 12
Area of a square with side “ S” is : :
360° 270° 180° 90° s
A straight angle contains :
. 2 14
2 2 2 2 .¢,4”1)W8p q<12pq
4 4 4 4pq :
P Pd P H.C.F. of 12pq, 8p’q is :
. " , 1 The e sl fy Ul L s dag” |1

number of perpendicular bisectors of
the side of a triangle is :

270-021-11-(Objective Type)- 12000 (7264)
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(PART -1 Jst2 ) . )
12 2. Write short answers to any SIX (6) questions : : o0 erlz A2 L ey (6){:.(5:( 2

() If P(y)=3y? +%+9 ,then find P(0) &5 P(0) P P(y)=3y2+~i{-+9 G

(i1) Reduce the given rational to lowest form : N o7 A2 L'Z/C’c.,: 61D
2 —y?
3y-3x
(i) Simplify (V12 =42 ) (+/20-342) 2 A (i)
(iv) Find H.C.F. by factorization : abxy , a*bc : ’éf:/(:"’ (‘M w2 sLSE  Gv)
(v) Find H.CF. by factorization : 6pqr , 15qrs ?i-/pl” (‘y bk{.u’ﬂd /’ W)
(vi) Find L.C.M. by factorization : (el Fioonis s (Vi)
21a4x3y , 35 a2x4y ’ 28a3xy4
(vi1)  Find the square root of : 16x% +24xy +9y? :é{)” &l (vii)

A - 100°0/6UHEF Lo 1000 55760 (viid)
(viii) The sum of two angles is 100° and difference between their supplements is 100°.
Find the angles.

(ix) Write down the angles M and P : 2] ¥ J JLsP M (x)
p

M
5g°

12 3. Write short answers to any SIX (6) questions : : P bR /""' L =iy (6)435.8:( 3

(i) Factorize : 2a* —bc—2ab+ac L 265 WD
(i1) Factorize : x?—9x-90 28 (i)
(iii) Factorize : 1-343x° D &GF (i)

P()=28 —5x2 4 Tx—T7; PQ)=? 1 Epbredfd P IFS (v

(iv) Evaluate the polynomial for the value indicated P(x) = 253 —5x% +7x -7 s P(2)=7?

(v) Solve : 3x+3(x+1)=69 ZSf W)
(vi) Solve : V2x-1=5 2 f v
(vi1)  Solve : 3(x—2)<2x+1 S (vid)

g 6 ina om GO AL (viid)
(vii1) Find the volume of a cube of side 4 cm.
0 QUSE R LS ek N AU (0
(ix) Find the hypotenuse of the right isosceles triangle each of whose legs is "¢’

(2‘.'&/3 )



4 (2) LHR-q2--2

Y12 4. Write short answers to any SIX (6) questions : : o etz A L ey (6){4.,6:( 4
(i) Solve by factorization : X2 —4x-12=0 ég)’a&/’ﬁu’f“ 6))
2 3 4 01 5
Gi) If : A=|1 5 5|,B={2 3 6 G
4 9 3 1 4 -2
then find (4~ B) SZe (U4-B) S
2 3 17
i If : A= ]V ,B= S Gid)
l1 s 4 6
then find 358 34 gk 38347
. -3 2 -1 5 5 ;
(iv) Find the matrix product : { q i :H | 3} -3 é(:"ﬂ,«/;yb (v)
(v) Solve by factorization : Qx+DGBx-4)=0 2 fY 72 (V)

bl ids LU Fa 00 L (VD)
(vi) Draw a semi circle with diameter 4 cm and centre at O.

-a b
a b
(vill) Find the distance between the given points: (-1, 3), (-2, — 1) :ép"”ywyuﬂl’i} (viii)
(iX) Describe the location’of given point (8,-3) :&% /65 Jﬁ?ch:.)ui'dﬁ"d;ﬁ 3ix)
on the number line ( §;+3 ) ( PART -II (j”’” )

J ; /JL',/,?&?./)L‘JGQCL.) (vii)

(viD) Identify the given matrix singular or non-singular: [

Note : Attempt any THREE questions . -EJ.:«L.L?.Z.@UVJ ‘:,éf O
4 | ek (pr i ix L1043 S () 5
P p
5. (@) If L=vi0+3 thenfind (p+1y
P p
4 (b) FindLCM. :  1-)%, y*+1,1-522)7 ek Pk (&)
4 6. (a) Resolve into factors : 2t 2% 16 D ebkd Az (D) 6
4 2 z 1 4 72 2 1
4 (b) If 4= ; B= ] A:[ 1,3: ()
0 0 2 %] 0 ‘0 g 4 '
then verify that : AB # BA AB#BA .S ",d{;‘at‘;
4 7. (@) Solve : x:3_xir2<l+x25 Z=F ) 7
5
4 (b) Solve by using quadratic formula : S esalf K ()
x+4 x-4 10
+ =—;x#—-4
x-4 x+4 3
4 s mAB =43cm « mBC = 5.4cm JAU ek ABC =& () 8

-’;ﬁ)‘”u“;f/gu’l_._% mAC =39cm
8. (a) Draw atriangle ABC inwhich mBC =5.4cm , mAB =43cm and
m AC=3.9cm . Find the incentre.

4 o HE3 Ukl E A (o)
(b) Find the volume of a sphere with radius 3 cm.
4 9. (a) Use Cramer’s rule to solve :éffu?bl/;l/’?c:g/’iﬁ/ %) 9
the simultaneous equations :
Sx +2y =13
2x + 5y =17
4 st C (4,3)4 B (6,2) cA(2,4) 02 = (L)

(b) Show that the points A (2,4),B(6,2)and C (4,3 ) are collinear.
270-021-1I-(Essay Type)-48000



